001.  Which of the following can be altered by a simple majority of the Parliament?

1. Abolition of Legislative Councils

2. Creation of a new state

3. Election procedure of the President
(A) 1and2only
(B) 2and 3 only
(C) land3 only
(D) All of the above
llRieiel] 5 2ueel AL g gR1 cled] Ut B
L [Quet uRugid] o]
2 «dl Aseued] 234l

3. ezyladd el uGw
\q/m) Hizt 1 244 2 (B) HiA 2 id 3
(©) Al 243 (D) GWRlsd dAHIH

002.  Consider the following.

1. Bodo 2.  English
3. Nepali 4. Urdu
5. Bhojpuri

How many of the above of the following languages are mentioned in the eighth
schedule of the Constitution of India?

(A) Only two (B) Only three
(C) Only four (D) All five
“ildeil 21 ql:

Lo ligl 2. »iw

3. Auel v Gg
5. &lioryzl

GuRlsetniell Yool eumiil @Rddl ol Hus 2R Gl 87

(A) Ui of \jy’ HiA AQL

(C) A AR, (D) ottll uin
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003.  With reference to the Goods and Services Tax Council, consider the following
statements:
I. It was setup under the 101st Constitutional Amendment Act, 2016
2. The Union Finance minister acts as the ex-officio Secretary t0 the Council.
Which of the statements given above is/are correct?
(A) 1only (B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2
ot s AR 252 516FuA oot At [dedld eud Al
L. 1013 siarellu yart iR, 2016 8501, A5 Hies
YAl U el
2. Yol el 3ol w1 51GFRan el 3 [ w2 uRa o sl 2 6.
GuRlsct [Haeelniall s/su1 23/ 87
DA) HA (B) HiA 2
(C) 1 24 2 oid D) 1% 2 <€l

(AR 25 s1G[adl

004. Consider the following statements with reference to the Leader of the Opposition
(LoP): |
1. The office of the LoP is a constitutional office.
2. The leader of the largest opposition party having not less than one-tenth seats
of the total strength of the House is recognized as the LoP in that house.
3 The LoPis also entitled to the salary, allowances, and other facilities equivalent
to that of a cabinet minister.
How many of the above Statements are incorrect?
(A) Only one (B) Only two
(Cj) Only three (D) None of the above
Eruatedl Al (LoP) 4 @dldl {12t [Adedid e al:
% 1. st Adid ue oiaRglM e 6.
J2- ell ]l Gusll Wl Ady, ovell WA el g Avadl viimi 2] eunl
il A58l €1, Ad A e [yl dal T Hieddl vudmi »ud 9.
o3 [Austel Ad w302 ol 20is wiR, el vid vty YRR R ©.
Gu3ls [ae-dluial Jeat viler ©7

(A) A @5 UB) WA
(C) 4zt A8l (D) GWlsdnial sleS el
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Wb,  Contribnition it e in the siaking of the Indian comstiution is generally less
i, I this cimmsnt, cosider the following personalities:

I, Hanwn Jivrsj Mabia 2, Durgabai Deshmukh
4, Mutangini Vinsra 4,  Vijaya Lakshmi Pandit

4 Mudwm Bhikaji Cama
How many of the shove were nin pant of the Constituent Assembly of India?

(A) Only two () Only three
() Only fonr (1) Al five
it s (anbomi wlssimitn diazim (4 i) sadlld 9, o zizofui, Al
sl 144 4l
VOl i Ml 2, gl Zumpm
4, WiAlwdl e 4, [aner ol Ao

pryv I TR Ve T
ilsermlvll hrstt el olaig wotatt uou o s ?
(A) Wi o) () A 441
(') HIA Lk (D) ol uiy
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i the direct control of
007.  Which of the following departmients/organizations cOme under

the Prime Minister's Office (PMO)?
1. Department of Defence
2.  Department of Space
3. Department of Atomic Energy
4.  National Security Council Secretariat
(A) 3only (B) 2only
(C) 2and3 only (D) 2,3,and 4 .
ezl sut [Reuoll /el asmts sl (PMO) «d 2018 (AL dsu 214 697
1 dRewL [Qepl
2. wasia [es
A 2 Glod [qel
4wl Yrau ulue uRqey
(A) A3 (B) HiA 2
(C) HIA 2 2id 3 - \oA4D) 2, 3 uid 4

008.  With reference to the recent developments in Indian polity as of 2025, consider the
following statements regarding the One Nation, One Election proposal:
1.  The proposal requires amendments to Articles 83 and 172 of the Indian
Constifution to synchronize the terms of the Lok Sabha and State Legislative
Assemblies.
2.  The High-Level Committee on Simultaneous Elections, chaired by former
President Ram Nath Kovind, submitted its repbrt to the President of India in
2024. |
3. Theimplementation of simultaneous elections would necessitate the dissolution -
of all State Legislative Assemblies before their full term, without exception.
The Law Commission in its 170th Report (1999) and the Parliamentary

Committee in its 79th Report (2015) supported the concept of holding
simultaneous elections.

Which of the above statement/s is/are correct? |

(C) Only three | (D) All four
CSSC-GS-1-2025 -A | [6] S ——
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2025 yeilell @Rcfla Asvellltel AYARAL (st QoA qet Ao, ae Sdsoe URAID gg
ZA%

i3t 1Al (el tud Al: |
. 21 Heclae dlsAetl i s [ttt selsioe 2ueafiq s2a1 w12 erdl

A%
. : ZA%
oltRQIl 2Bsd 83 2 17241 YRl or32 8. %

2. sl 2esllvil wedl GR-2adl ullA, vl s opayd wzula 4l 2
Al SUER 530 ecdl,duel 202440 002ulA Al 2ada1d yuad sul edl.
73 sl eellaiidl 04l HE AR Ased [@Qeducizia dudr 4ol sidsia

ysdi [ausid 529 usd, [Gi2uaiezn.

4. sWEL 2Pl dedl 1704t 28AUA (1999) wiel 2Auld AR Aetl 7941 MEAUL
(2015)ui sl 2ullil dloratdl vaiad wmedd 21 ed.

GuRlsd [wde-lnial s /su1 01/ 97

(A) HA s (B) HiA ol

(C) A A | (D) ol AR

009. Which of the following South Kingdoms is not mentioned in the Ashokan

inscriptions?
(A) Pandya (B) Chola
(C) Satiyaputta (D) Satavahana
Alaqimidl 54 elfsie Ast 21eisl Bradvilui Gedfnd &l ?
(A) uisy (B) uld

\-./C) Alduya | (D) Alddled

010.  Find Correct statement(s) about Menhir
1. A Menhir is an upright stone placed by humans.
2. Menhirs from Telangana were added in tentative list of UNESCO World
Heritage sites in 2025
3. Indiais the only country in the world where Menhirs are found,
(A) only I and2
(B) only 1 and3
(C) only2and3
(D) All three

CSSC-GS-1-2025 - A | 7] D e P



Aleer (A2 Uiy [qde(>1l) alal
L AR 9 o arl G A4 2afid sRami 294 1R 9.

2. Adbueuel AR 2025 Hi yaAsl ae dReor is2edl vzl z_ué'lui‘éuaqml

wiLeul ¢l
3. GIRA VsHlA 29 O ol Al oddl HA O,

(A) &1 22 (B) #5123
(C) &5 2 i 3 (D) “4L AYL

011.  What is the meaning of vibe coding?
(A) Users, who do not know coding, are taking the help of Al'to develop softwares
- and apps.
(B) Special programming language for controlling drones.
(C) Creating songs with the help of AL
(D) Special programming language for driverless taxis.
QeSor sUEouedl 244 4 97
A) auaiasdibll, ool S oagldl <, duil AL «l Heedl] AR vyl R
[Asd 9.
(B) Qe FrRiBid s2a1 W<l [@dy uulFEa e,
(C) AI l ygeall alldl oteligal.
(D) YR [Qetiedl 25dloil w2l [Qay diaufier G,
012. Consider the following statements regarding the Governor-Generals and Viceroys
during British rule in India:
1. Warren Hastings, as the first Governor-General of Bengal, introduced the
Regulating Act of 1773 to reform the East India Company's administration.
2.  Lord William Bentiﬁck abolished the practice of Sati in 1829 through a
regulation, marking a significant social reform under British rule.
3.  Lord Dalhousie's Doctrine of Lapse was instrumental in the annexation of
princely states like Satara and Jhansi.
Which of the above statement/s is/are correct?
(A) 1and3 only (B) 1and?2 only
(C) 2and 3 only (D) 1,2 and3

CSSC-GS-1-2025 -A | [8] [ Contd




CIEHRETE safi{uu ?lq«{::-omw Ul ULAAA AL ety (il 41 il

f . dliRd RZA, olbuadl uuM Adl-oreat adll, e Sl jueley adlazHi
YURL WS 1773+l 144221 252 20y sl

72 Al [y Al 182941 e a1 udll ua «iofg 531 oy [l auaet 859
dAluta A6rs YaR! edl.

| 3 A sadialla Sl62 iy A ARl i atall | 20Ul A uecadl

o{[ist Sovl.
Guls [ae-llaiall s3/s41 A1/ 87
(A) WA 1243 | (B) HiA 1 244 2
(C) A2 243 &({53 1, 2 24 3
013. Who among the following was never elected as a President of the ‘In‘diaﬁ National
Congress’?
(A) Moti Lal Nehru (B) Annie Besant
(C) Lala Lajpat Rai : (D) Bal Gangadhar Tilak
JaAuizl]l sier sa3U elRdl AR SI900° 4L wyut aBy et Aelal?
M)l 83 | (B) il clae2
(C) dlal @5y R (D) olld 2PutR [Ads

014. Which one of the following statements/pairs is/are correct ?

1. Bhagdudh - Tax collector

2.  Akshavap - Accountant

3. Palagal - Messenger

4. Kshata - Keeper of the King's household

(A) 1,2and3 (B) 1,3 and4

(C) 2,3and4 | (D) 1,2,3and4

sl /51 [Rded/ondl e/l 87

1. GRIEH - 5 WY RAR 2. wgary - (el

3. ydpld - dgAdles 4. HAl - AL Rell U

(A) 1,243 (B) 1,3 214

(C) 2,3 4 (D) 1,2,3 24
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015. In 2025-June Powér Ministry was working on draft-guidelines to limit the air

iti 1us.
conditioner (AC) temperature settings between degrees Celsiu

(A) 18-25 (B) 18-32
(C) 20-28 (D) 20-30
2025~0¢=1i Go Al dlcigyée el diumit AR
423 Huffe sa1 w3 [eon-Figal Hua1 QUi 524l U2 S14 53 261 edl
(A) 18-25 (B) 18-32

W) 20-28 (D) 20-30

016.  The development of IMEC corridorﬁas been delayed because of the con flict between
Iran and Israel. Find correct statements about this corridor.
I. It was unveiled in Shanghai Cooperation Organisation Summit in 2023
2. It aims to connect Middle East countries with East Asian countries.
(A) onlyl (B) only?2
(C) both1and2 (D) neither 1 nor 2
SRUd vl St 923l dad 6L IMEC sIRSRAL [qulomi [Qeor wdl . il
SRR (@9l dicy [Ade-l 2l
1. ad 202340 giaw siiRad 2iSas3ad (SCO) uleui e sRami 20 ¢d
2. el &d weu ydel 2ald yd 21 2al Wil sdgadl .
(A) %51 (B) & 2
\(ypc) el 1 2l 2 (D) Adildd?2

[eall Alcduudl

017. The founder President of All India Kisan Sabha was -

(A) Acharya Narendra Dev
(B) Swami Sahajanand Saraswati
(©) Bamkim Mukherjee
(D) Jayprakash Narayan
M HRAL (214 USRIl 281Us UYL SISL oL ?
(A) U 3w 24
(B) 2] ueon-ie A4l
(C) otHlu Yy

5//(1)) oyuUSIeL ARIMSL

" CS1-2025 - 10
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018.

019.

|

Which of the following features Were not common to both Buddhism and Jainism?
1. Emphasis on non-violence (Ahimsa) as a fundamenta| principle of ethicz;l

conduct.
2. Rejection of the caste system and emphasis on spiritual cquality across social

classes.

3. Acceptance of the doctrine of Anatmavada (no permanent self or soul).

4. Belief in the cternal nature of the universe, governed by cosmic laws without
a creator deity.

5. Use of Prakrit dialects to propagate teachings among the common people.

6. Advocacy of extreme asceticism as a primary path to liberation.

(A) 3,4 and 6 only
(B) 3 and 6 only
(C) 1,4 and>5 only

(D) 1,3 and 4 only
ezl 58 Qi ole i 2id o7« 4 oid 2 A 447

Alis iRl 4aod Rigid adly 2UEa (wlEa) w or.e”
onld eqazledl 212dlsR i A6ys @lML 2R AL W QIR &7
aelicnale (516 2l 2iteuL vl BicHidl 2H24l51R) <l Rigiadl Y {ETERS

Al dlSiHE Bragiel uaAR 3 uisd olidlildl Gualdl
Y(oetett Huu Wl Al AR duzled]l [Siud. >

(A) Wl 3, 4 i 6+ \VB) WA 3 i 6
(C) HAAl, 425 . (D) WAl 3 214 4

1
2
3.
4 ool aumd sl B, o uods 2adl Bt aaidi [l gri AR . v
5
6

There is some concern regarding the nanoparticles of some chemical elements that
are used by the industry in the manufacture of various products. Why?

1. They can accumulate in the environment, and contaminate water and soil.

2. They can enter the food chains.

3, They can trigger the production of free radicals.

Select the correct answer using the code given below:

(A) 1,2and3 (B) 2and3

(C) 1only (D) 1and 2 only

CSSC-GS-1-2025-A] [11] ﬁ
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GEPL &R (AR Geyge iy (i Guadlori At 52atls 221 cedlel AeluiBsen

[49 Rl 8, g HR?
A ol vl shgst o ad & 24 well it ol e 59 45 B

2. @il eR Guiami udsll o B,
3. vl gl Asseuet Geutgaa Gror 21l 43 8.
A= 20 Slseil Guadlor 5319 2l orqlol WRiE S2U:

E AA) 1,294 3 (B) 243
il (€) A1 (D) Mt | i 2
020.  Consider the following:
1. Stratosphere 2. Thermosphere
3.  Troposphere 4. Mesosphere.
In which atmospheric layers given above one will find that temperature increases
with height?
(A) 1,2and4 (B) land3 b ol 5
(C) land2 (D) 2,3and 4 4, BT
<l e @l 4. @,
1. 222llRER 2. 4HlREUR 3,
3. olullRaw 4 WARER
Gu3lscd 2104l Al 2aiHiE] sui GlRug E drusidl QURl 2 87
(A) 1,224 (B) 123 |
\_.7(6) ] 244 2 (D) 2,3 i 4

021. The 30%30 target, sometimes mentioned in the news, is related to

(A) Coral restoration
(B) Decarbonisation of shipping industry
(C) Biodiversity conservation
(D) Afforestation for the removal of carbon dioxide
30%30 @z, oF 25 UWRARIHE Gedrid 8, d woildd ©:
(A) $RA/URAIOL Yet: AN
B) [l Gellord dstoil-ugad
(C) ovafafdnd A48l
\-/D) slofel SAlSRASS €2 sl M2 el
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022.

023.

024.

025.

oAA) [a[xword Y13, 0

Which of the following is India's first decp water container trang, i
(A) Vizhinjam Port, Kerala (B) Galathea Bay Por, Nicor:, a Ifﬁnt port?
(C) Vadhavan Port, Maharashtra (D) Mundra Port, g

Jaleuatiell 54 @tiRetd we SN Q22 se2e? 2le[UUNe2 215 9

(B) 2etlaun of Wi, [asions

(C) azavl ¥, NSRS (D) ¥st Ulé, dysraq

Which of the following kinds of pottery is the most important archaeological
urbanization during the Mahajanapada age ?

(B) Painted Grey Ware

(D) Northern Black Polished Ware

Yot gfbud addlsegl 2wl isodal el

cvidence associated with
(A) Black-and-Red Ware

(C) Ochre colored pottery
(el sut MsiRe, HElstH HelvAUE
el el Yl 97
(A) oQs-Blrs-28 R

(C) »iluR/vls sl iedl

(B) Ue2s A R
(D) «iltld ods yi[dss 42

d the East India Company to allow

Which of the following acts actually committe
| activities in India ?

n religious and educationa
(B) Charter Act of 1813
(D) Charter Act of 1853
Al (el Fraieilil

Christian missionaries to carry O
(A) Charter Act of 1793

(C) Charter Act of 1833
JAuniedl sul stel R 22 Blegul Su

feulois ugfl et Hoyd] 2l edl?
(B) wdk vis2 1813

3 el ARl 214

\O4A) Y152 w52 1793
| (D) AR 2 1853

(C) AR vis2 1833
Which of the following group of items was exported from India to various countries
in the Eighteenth Century ? |
(A) Indigo, Ivory and Pepper

(C) Opium, Tea and Dry fruits
Janidl 58 azdild o 2aR
Ay Sl /all, eilleid uid H{l \9@5‘) ¢
(€) wislal, Ul Vit Y5 4ol (D) 4,

(B) Indigo, Opium and Pepper

(D) Tea, Dates and Dry fruits
ol wdlaii el (@l 2ellHi (51 ad ¢d?
(ool /210l wigler 214 3l
viog2 2l 45§l

CSSC-GS-1-2025 -A |

[13]

[PT.O,

A

W D el IR s
B T Y S e ., o o



@ 5% G ERAFA G PALABALIED

026.

027.

028.

v

With' respect to the development of Urban centres under Mauryas, consider the

following Statements:

1. proper grid pattern layout

Some of the urban centres were planned cities with.a

in the city,

2. In the planning of some cities, some influence of the Hellenistic model is
cvident,

3. Somc urban centres were fortified, sometimes with ramparts or a moat.

Some cities helped in improving the long distance trade in contemporary

society.
How many of the statements given above is/are correct?
(A) Only one (B) Only two
(C) Only three (D) All four

AU 8501 2] Jegledt [As1210eL 200, A1 [Rdedld L al:

1. edis 6ddl sl 2ALilBrd a8 sl ovui add Als o Q2182 ed.
2. Y2dls udel vidlor<ni, SAMERs HiRadl dlst ueua U 8.

3. Yoals uddl el Gedoitllaion edl, suRs Beat 244l viie 8.

4. Bodls udd uusielld wovul dioll 2icRel duRA YaRAM] Hee 53l
GuRlst [Mded/dl Usl ot w1 87

(A) A s (B) HiA ol

(C) HiA =AYl (D) dHId AR

Which of the following countries is the largest producer of Rare Earth Elements ?

(A) Japan (B) China

(C) USA (D) South Korea
il 54l 22 R 21 slEHRuAL A1 Wil Geues §?
(A) oAU (B) Ul

(C) yYulu (D) elawl siRut

Pradhan Mantri Virasat Ka Samvardhan (PMVIKAS) Scheme is a scheme of which
Ministry of the Government of India?

(A) Ministry of Tourism

(B) Ministry of Tribal Affairs

(C) Ministry of Minority Affairs

(D) Ministry of Culture

CSSC-GS-1-2025 - A | [ 14]) [ Contd...




029.

030.

Yelld
Yoyl 87
(A) wled HAad

Al Briud st dddd (PMVIKAS) uloy«| eu;
b UBRAL sy o
L HaAldus]

(B) llesnld ollotclle 3y

©) agudl eueidld Al \9“5) 225l Holey

Cas9 is a protein that act

s as the programmable RNA-guided endonuclease cutting
uide RNA sequence. Cas9 1s derived from a

DNA that matches a 8
(A) Bacteria (B) Virus -
(C) Microalgae (D) Fungi
Casd 31 s W B o7 AN RV 2elieyselln 21 sl 52 8,
& U wRlAw] Bisasd 2l Ha vital Jatd 4 51U 8. Cas9 < Hill
Anay 9
LAy cisRul (B) 4l
(€) Hisimell (D) %

Consider the following statements:

1.

Which of the statements given above 1

(A) 1and 3 only

(®

a1 [dgedla e dls

i

The speed of light is the same for all observers, regardless of their relative

motion. |
The speed of light is the maximum speed at which matter or energy can travel

through space.

The speed of higher frequency light slows down more than lower frequency

light in matter.
s/are correct?

(B) 2and3 only

1 and 2 only (D) 1,2and 3

gl @ el e afa 23 d giu.

ysiaiel AAlct dHH [letst S Ml 9,
Glod wiasiaHl uat 53 o 6.

nstaell ol 21 Hertd Al & orel W yeref 2l

CSSC-GS-1-2025-A]
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3. Goa sugfiet usiaedl 2d wetefui {12l gl U5t sacti ag dl{l w .
Gualsa Fas-lnidl s/su1 A3/ 97
(A) Wiz 1 i 3 (B) HiA 2 2w 3
(C) HA 122 (D) 1, 223
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031. The parliamentary form of government differs from 2 presidential form of
government primarily in the context of
2 Rcspo"Sibi'i‘)’ of exccutive to legislature
2. | Election of the head of the legislature
Sclect the correct answer using the code given below:
(A) Only | (B) Only2
(C) Both 1 and2 (D) None of the above )
ALl Rt Wil 3R et wesleeell oucd ol HECRH AL w3 99
. [Qtueun ud sRiodldl sraieeil
2. [Rteeud qsil el
Al 204t slsel Guuitar s34 2wl ovetot uRie SRU:
(A) 551 (B) &5 2
(C) 1 24 2 oid (D) Guilsauidl 5185 «¢l
032. Which of the following acts as the largest carbon storage unit in the environment?
(A) Atmosphere (B) Oceans
(C) Soils (D) Green Vegetation
aeniell 54 valazgmi Al 41 st 2ue sy Adly sl 52 97
(A) UAREL (B) HEIRAPR
) ordl o) ddl adzula
033. Consider the following:
. Depreciation of the Indian rupee
5 Adoption of an expansionary monetary policy by reserve bank
which of the above is/are likely to increase the inflationary trends in India?
(A) only i (B) only 2
(C) both ] and 2 (D) neither 1 nor 2
fladetd 14 @l
1 oqrdld 3ludtd o ayeu-
9. ofs it [raaad] aguslu il viudia
uilsanidl 5% d2eiell MRami gudid 4R ddl asicn 87
(A) &t (B) &t 2
(C) oid 1 2t 2 D) Adlldddl?
CSSC-GS-1-2025-A | [16] | [ Contd...




In which of the following contexts has ISRO recently launcheg Bt -
(A) Demonstrate space docking capabilities pak’ vehicleo ',;
(B) Development of reusable launch vehicles : |
() Demonsfrate capabilities to clear space debris

(D) Development of quantum communication satelljte system

{letatief] 51 2igefui ISRO dlveRAL Ad WUl Qe 51 137

(A) 2tasia Sl allle Uedd |
o) ye:Gudlll dl- quedisdl [Qs
(C) iasidel saiel €2 sl HHcAI2ile, Uedld

(D) sdlw2 s34t Ao Rirendl (s

034.

035. UnderArticle 25 of the co_nstitution of India, the state guarantees freedom of religion

and conscience. In this context, which of the following are part of this

1. Right to profess religion

2. Right to practice religion

3. Right to propagate religion

1 4. Right to proselytise religion

Select the correct answer using the code given below:

(A) 1and2 only (B) 1,3and4 .
te“" -

(C) 3and4 only (D) 1,2and3 V!

ARl citRulAl HiBsa 25 350, st 4 2 vid:s241edl %qutm-{l 241U

| &, i e, {A-unidl s il w2 97
oLl uAR eledl 28R 5 el 2o SRl w5 VY
galedl HRR sl HA[ASR 4 i yRadedl 2[85R X7

o3
{3 2l Slsedl Guilar sl Rl oraled yaig s
L) auz_lu-lz B) 1,324
(C) HiA 3 21 4 (D) 1,2 %43

036. The idea of fraternity as outlined in the constitution of India is aimed at

(A) securing freedom from social evils

h (B) establishing equality of opportunity
(C) giving unity and solidarity to social life
(D). achieving social welfare and harmony

____-.—;-—-"".-.-_—-—._w_ -

[P.T.O.
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A it i ] & il i Ry 43R LS

(A) ARy g"'ll?ﬂﬁﬂ ﬂ@'l Anacl ¥
(B)  csell u3idcty 2ydf] % -

& ©) 2ubrs paaui vy 21 wou Fola sl
(D) AMlors sequgl i 2ialee sizd 52l 2

037. ansider the following statements: _ i s
Statement I ; Directive Principles of State Policy are non-enforceable by law.

Statement II : Directive Principles of State Policy do not enjoy legal sanctiont.

Select the correct answer using the code given below:

(A) Both the statements are individually true but Statement 11 is. the correct

explanation of Statement I |
(B) Both the statements are individually true but Statement II is not the correct
explanation of Statement I

(C) Statement I is true but Statement II is false

(D) Statement I is false but Statement II is true

Al [ddedid e al:
o faded I: ueed llla- MZas Biegidl stuel arl qw) 53 ased dx «dl.
o Trded 11: owt <lldu [Eas Risidid stgar Hogdl 4ol «dll.

151 wudl stsedl Guuilal s3la Al oralol YAE KU
(A) ol [dedl bt dd A 9 W [qde 11 2 [dded T « 213 Aoyl ©

(B) ¢id [Ade-dl ufsidld A 21l B uid [Aded 11 2 [ded T o 213 avoydl «l
(C) [ded T 8 uid [deq 11 viig 8 X<
(D) [Ade] bitg © Uid [ded IT Y O » ,

“The regions known as Ogaden, Afar, Amhara and Oromia are sometimes seen in

038. |
the news as separatist regionsof
(A) Ethiopia (B) Sudan
(C) Ukraine (D) Yemen
013, iR, PHERL v ARIMUL A5 2OVl U2 SRS AWRRM] “l
[Getoredldl uzal adb st wa o _—
) SlEadlfua (B) el
(©) 4t (D) Al

”'_’_—_"—’_’——_
_GS-1-2025-A | [18]
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039.

040.

041.

ol

SLIRER

-

Consider the following statements: |
|.  Fundamental rights under the constitution of India are subjected 10 the p
- pOwer

* of Parliament to amendment.
2. Fundamental rights under the constitution of India are available only to th

citizens of India.
Which of the statements given above is/are correct?
(A) 1only (B) 2 only
(C) 1 and 2 both (D) None

el [Adeelld s 4l:
ol cltrel dsuedl Haopd 2Rl gl YarL abad sl 8.

7 MRAsl URYL 88Ul HARYd 205121 55d HRAAL ARIRS] WS Guaoy 9. X,

Gudlsd [Mde-miz] s4/su1 /A 87
(B) HIA 2

(C) 1 2id 2 oid (D) 818 «dl

According to Economic Survey 2024-25 what is the correct ascending order of
following countries as per their foreign exchange reserves in 2024,

(A) India, Switzerland, Japan, China

(B) Switzerland, India, Japan, China

(C) Switzerland, Japan, India, China

(D) Japan, Switzerland, India, China

s udeel 2024-25 Horel, 2024 i ARGl [GRell gfumeni A gl A1l

Asell 54 4 97
(A) ™Rd, Razndes, onud, A4 (B) Raznd«s, Rd, Ul I

RAC) [Ezdes, o, MRd, A4 (D) o, Razosdes, ®Rd, il

Consider the following statements:

1. Some mountains have volcanic origin.

2. Block mountains are formed as a result of Weathering and Erosion.
3. Aravallis are examples of Plateau mountains.

4. Andes are an example of the fold mountain system.

How many of the above is/are correct?

(A) Only one (B) Only two

(C) Only three (D) All four

CSSC-GS-1-2025 - A | [19] [P.T.O.
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Al Meaia o1 i

L. S2eus uddld Gga 3o scuangell 9.

2. odly ydq) Muam/eqmwﬂ 21212 i) Hlarlel WRRUA AR ©.
3. wRqedl Gy ywiz uRa uddld GeleruL 8.

4. idly gleg/adlaion udd Rieeud Gl ©.

GuRlsimial] Yoar @l 97

(A) wi=A By (B) ¥t ol

(C) A Al (D) ol AR

042.  For election to the Lok Sabha, a nomination paper can be filed by
(A) anyone residing in India
(B) a resident of the constituency from which the election is to be contested.
(C) any citizen of India whose name appears in the electoral roll of a constituency.
(D) any citizen of India.
dlsuctedl Jeull W2, dmis uaA 5191 z15a 53 ab 97
©(A) @RAH 8] siust ulsd +-
B) o Halazaruidl eull asadl gl d«dl eawil #~
\_"’/"(C) ARl SISUBL APIRS o7, M HAER UIEl Aledg lu
(D) @Rl slugL ks

043. Which of the following pairs is not correctly matched?
Ancienf institutions of learning - State
(A) Bikrampur Vihara - Bangladesh (B) Telhara - Bihar
" (C) Vikramshila - Bihar (D} TaProbhm - Indonesia
Jaeuuizl 58 oAl diou KA Aa vidl <l ?

yild [R189L Hqaivil - Usw

(A) (GisuyR [AeRr - ZIRCTEE] (B) ddeRrl - [GerR
\?(;c) Asusllal - [Ber (D) dl Uiy - el
044. Singapore port is an example of
1. Ports of Call 2. Entrepot Port
(A) only] (B) only2
(C) both 1 and2 (D) neither 1 nor 2
—
C-GS-1-2025-A] [20] _
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045.

046.

y

FiowuiR oieR o GelsRWL 8 |
1. e »ils sla 2. VUl WS
A) il (B) 2
(©) vl a2 (D) 4cl1}dd?
What is the narpe of the mission launched to rescue Indian students from [rap, during
the Iran-Israel conflict of 20257
" (A) Operation Sahayata (B) Operation Sukoon
(C) Operation Sindhu (D) Operation Sarthi
202541 SRid-Soride ded g2t SRt Rell Qe ouaq wd g3
A (e An g 97
(A), 2HIuRUA AL (B) WU Yi
\’ng(f) 2R [Hy (D) iuResd ARyl
Consider the following statements about Madam Bhikaji Cama:

1. Madam Cama unfurled the National Flag at the International Socialist

Conference in Paris in the year 1907.

2. Madam Cama served as private secretary to Dadabhai Naoroji.

3. Madam Cama was born to Parsi.

" Which of the statement(s) given above is/are correct?

(A) 2and 3 only (B) 1 and 2 only

(C) 1and3 only (D) 3 only

A oflstow sl (@9 <Al [Adedid i i

1 dgn sl 190741 ARawE widrangly dsusvard] uRueni 0l tasy Rstel

il =
2. HeH s1ML EIEIMLES ADR1-L 2ol AR A Adl 241Ul dl.
3. AeH s URRUL sZoAHl oveddl g,

GuRlscl [delninl s3/su1 /4 87

(A) HiA 2 v 3 (B) HirA 1 »id 2

(C) WA 124 3 Dy wA3

CSSC-GS-1-2025-A | [21]
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ates of India from north to south:

047.  Arrange the following capitals of North-Eastern st it
. Imphal 2. Aizawl o _,,q;;;
3. Agartala 4. Shillong R B "
(A) 1-4-2-3 (B) 4-1-2-3 et oA
(€) 4-1-322 . (D) 1-4-3-2 W
MRetell Griz-yellu 2useilell 2oveaielloiial Griell £t g Adleal:
L gy - 2. gl - M) ALH,
3. BRRAML -y 4. Riddia -8
(A) 1-4-2-3 (B) 4-1-2-3
(C) 4-1-3-2 (D) 1-4-3-2
048.  Consider the following pairs:
Pass : State
1. Nathu La : Sikkim _
2. Lipulekh Pass : Himachal Pradesh
3. Bara-lacha La : Jammu and Kashmir
4. Rohtang Pass : Himachal Pradesh
(A) 1and4 only
(B) land3 only
©) 2 and 4 only
(D) 1,2and4only
{3l oAdiid B dl:
1{[%{/3-[13[ : Ae
1. oyl Rl a
9. [aydvt Wi [EHd dew X
3. oRI-AL Al o3 e sigfl v
4. Alediol wd : [EHRd wea v
\“V(A) i 1 2t 4
(B) HA _l_l'l:'l 3
(C) A2 A 4K,
D) 1,2 i 4
CSSC-GS-1-2025-A] [22] —_—
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The Panama Canal connects:

049
(A) Atlantic Ocean and Caribbean Sea

(B) Pacific Ocean and Gulf of Mexico
(C) Atlantic Ocean and Pacific Ocean
(D) Caribbean Sea and Gulf of Panama
yeliatl et oAt :
(A) 22dilr2s PR i JR[GUA Y5
B) UGS nerwR id Abasid »viid

\/C) sl2difees PR i URilES HERPR
(D) 3RMOGuA uYs id udiiidl 2iviid

SRR RYRTETRYRTRCS’

050. The Prime Minister inaugurated the Pamban railway bridge in 2025. It is situated

in

(A) Kerala (B) Tamil Nadu
(C) Jammu Kashmir (D) Andhra Pradesh
qeMtlel 202540 Urote 249 Yde Gedled 8. d Hi Rad 9.
(A) R0 AB) dlady
(C) or¥y sinilR (D) 21y ued
051. Consider the following states: ..G’ 24.€
" 1. Assam : 2. Jharkhand AL
3. Madhya Pradesh 4, Karmnataka "
In How many of the above states do tropical evergreen forests occur‘.in‘ :
(A) Only one (B} Only two o e
(C) Only three (D) All four M C‘;_J JP
3l 2Aseildl [BAR U 2 . b
Lo s R 2. BRI T
3. HY Yeue 4. solse 36 3
Guilsd UsediHiddl Jeami GrasRoitlly MeucRa o/oiel ol Ha ©7
(A) A s (B) A ol
@C) HiA AYL (D) ol AR
——
[ P.T.O.

CSSC-GS-1-2025-A | (23]



T —————

052.  Consider the folloﬁring lakes and their locations:
1. Kabar Taal Lake - Bihar
2. Deepor Beel - Assam
3. Vynthala Lake - Kerala
How many of the above pairs are correctly matched?
(A) Only one (B) Only two
(C) All three (D) None
(el dAvlal 249 Auet 22uedledl BRR 5:
L $oR did dog - [GieR
2. €luR ofld - 2y
3. [qewdl daia - Ra
GURlsel oddlAluiell 32l iy Ad A v 87
(A) HiA Vs (B) A ol
(C) dHI 2AQL (D) s adl
053. Consider the following Indian cities and rivers on the bank of whiéh they are situated:
City : River
1. .Tammu : Chenab
2.  Bengaluru : Vrishabhavathi
3. Kohima : River Zaru
How many of the above pair(s) is/are correctly matched?
(A) Only one pair (B) Only two pairs
(C) All of the pairs (D) None of the pairs
2t otllu 232 21 A o 4dlett Bt 208 B A4 a1 dl:
ade @ el
A ey Adie
2. olagy : quetddl
3. sl8HL: A €l
GuRls oAdlatlniell 324l uloy ld Aq vy 97
—(A) M50l (B) Hiat ol o]
(C) s oAdlail (D) 88 oAd] «iél
CSSC-GS-1-2025-A | [24]
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54. )
: 1. Western Ghats are composed of basaltic rocks

Consider the following: \‘
B \.

5. Western Ghats have small and swift- flowing streamg |

3. Western Ghats are located on a stable part of the Indian plate

How many of the above factors contribute to the lower frequency of landslides i

the Western Ghats as compared to the Himalayas?

(A) Only one
(B) Only two
(C) All three
(D) None
ARl i Al
I Bl e cules westaidl oidal €.
2. uBal e il vid »edl qddl el ©.
3. uBl we Rrdld Wodl RAR ®dL wR 2uddl €.
GuRis WRetamied]l Jeat [Exiauedl avimellni ulzal aiui jeviddedl 2191 2uqd-4u]
Qotglet 20 97 e
(A) HiA s (B) HiA ol
AC)  duId =481 (D) S8 ¢l

055. Match the following cyclones with their area of occurrence.

List-I (Cyclones) - ~ List-II (Regions)

A. Typhoons 1. China Sea.

B. Hurricanes 2. USA.

C. Tomadoes 3. Caribbean Sea.

D. Baguio 4. Japan.

E. Taifu 5. Philippines.

F. Willy Willies 6. Northern Australia.

Select the correct Answer from the codes given below.
(A) A-1,B-2,C-3,D-4, E-5, F-6
(B) A-1,B-3,C-2, D-5, E-4, F-6
(C) A-2,B-1,C-2,D-5,E-4, F-6
(D) A-2,B-1,C-3,D-4, E-5, F-6

---_"—l-__
E—
C88C-GS-1-2025 - A ] 125] [ PT.O.




A2l AsAALA Q3tell a2l 240 A1 08 :

=L R T

HR-T (A5l YRI-11 (ueal) ?»'
A g . —— 1. Al uYs 1
B. ¢Rya—— 2. yuluxl
C. al-m/’>/\/ 3. YR Uz
D. oueail 4. oquld ' ;
E. dify s [Elawdeu |
F. [l Qdls— 6. Gl »ilze(aul |

12 2uaL sleniall Rl syaiot we 520 )
(A) A-l,B-2,C-3,D-4,E-5,F-6,0(By A-l,B-3,C2,D-5,E-4, F-6 |
(C) A-2,B-1,C-2,D-5,E-4,F-6 (D) A-2,B-1,C-3,D-4,E-5,F-6

056. Consider the following pairs:
‘Type of grasslands State in which they are found
1. Bugyal Grassland : Ladakh 2.  Ukhrul Grassland : Gujarat

Which of the above pair(s) is/are matched incorrectly?

(A) Only1 (B) Only?2
(C) Both1and2 (D) None of the above
A3l oddllid i al: |

EllAeAl AELAledl USR : O AsUHL 044l L ¢
1. oA Ul HEl : |8t 2. GURA aRid HEl 1 A0RUA
Gualsd ondlzilnidl 565 ikl dd Ha vy 97

(A) HiA 1 (B) A 2
(C) 1242 cid AP) GuRlsauial sieS el

057. Inthe conteﬁt of Rocks, consider the following statements-
1. * Plutonic Rocks are formed by the sediment deposition over a period of time.
2. Many mountains are made out of igneous rocks.
3. Extrusive igneous rocks are formed by the cooling of molten magma on the
carth's surface. |

Which of the statements given above is/are incorrect?
(A) 1and3only (B) 2 and 3 only ré
(C) 1only (D) 2 only

. CSSC-GS-1-2025-A] [26 ] [ Contd...




wisslell 2gafui, At [Adedld d dl:

1. walles vissl AHY orell siuedl [8U gR1AM 8,

2 ol uddl iau vsslidl sl 8. v

3. olied BRI yedldl auidl w i Sst adl w3 .,
Gulset (deeinindl sj/su1 vilg/vilel ©7

(A) WA 12 3 (B) HiA 2 %1 3 4

\}(é) Wwal (D) HA2

058. What is the primary objective of the Monetary Policy Committee (MPC) in India?
(A) To control fiscal deficit |
(B) To maintain price stability while keeping growth in mind
(C) To regulate foreign exchange reserves
(D) To promote agricultural exports
MRANL sl lfa ufld (MPC) <l you Gea 8 697
SAA) sl v [P sl
(B) dlsd tutani Avild cla RaRdl smuadl
(C) [agall uawl vidad [Fulia sl %,
(D) s [Asiud Ul 2ug ¢,

059.  Gross fiscal deficit formula has which of the following components?
1. Net borrowing at home |
2. - Borrowing from RBI

‘3. Borrowing from abroad

(A) only1and?2 (B) only 1 and 3

(C) only2and3 (D) All three

Uset Aorsilu vttt Yol flAdmiel]l su1 828)ed) s sy @ ?
L 4 aiq mel

2. Rod des widell GuR

3. [agsll

(A) %5124 2  (B) #d1 243
(C) 52 w4 3 B A
C88C-GS-1-2025-A ] [27]) [PLO:
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060.  Which of the following schemes aims to provide a pension for unorganized sector

workers in India?

(A) PM-KISAN (B) PMJIBY
(C) MGNREGA (D) PM-SYM
AlRetiniell 555 sovett acni viioEd Asel SR 32 Tad 43 At éq 4ud B7
(A) PM-KISAN (B) PMIIBY
(C) MGNREGA AD) PM-SYM

061.  In cconomics, Goldilocks scenario is associated with

(A). Relationship between gold prices and currency exchange rate.

(B) Relationship between gold prices and loan interest rate

(C) An economic situation which has neither recession nor high level of inflation.

(D) An economic situation which has High level of inflation, high level of
unemployment and very low GDP growth.

efauan, 2Alleselsy Rl A8 doiftd 8

(A) lsldl Gl 244 AL [AldAHu €2 2] Hoin,

(B) Rledisil CU1d el clledell oy €2 42 20iY

\3(C) il 21fs [Rald orui o dl Hel dl b o al GlY gudid 2R giu,

(D) Hidl 21lls Ruld ol Gi gudld 3R, Gl alkloraukld 2R vid vior il

s gl clu. |

062. Find Correct statement(s) about the Prime Minister Dhan-Dhaanya Krishi Yojana
1. It was launched under Budget 2025
2 It aims to provide legal guarantee to farmers for procurement of grains.
(A) onlyl (B) only2
(C) both land2 (D) neither 1 nor 2
yatetdiAl tet-tied 5 dlovel [Ag uloy [qdeq(il) aldl
1. d 202541 vior2 dsu 93 sl vudl el
2. Al 8d vlgeld vietiorel wdlEl Wi sieqell W 20l 8.
(A) &l (B) &t 2
0/1C) oiel 1 wid 2 D) A4l 13ad?2

CSSC-GS-1-2025-A | [28] ' [ Contd...
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063 Which of the following factors is LEAST likely to contribute to the deprecias
o 10n of

the Indian Rupee against the US Dollar?

(A) Widening trade deficit

(B) Outflow of foreign portfolio investments

(C) Increase in domestic inflation

(D) Strengthening of India's foreign excharige reserves

el 8 uRor Yyl dler Al MRl FAAIAL U] %ﬂ@ ot

24 897

(A) AUR VAl Q4RI

B) [a2ell uidsifel sigliel oteRedl Ry Male
(C) all3 gPudHi q8Rrl

(D) MRl 2R [Rsll Hgl eisRl HoveydleS

064. Consider the following statements about India's ‘Inflation Targeting Framework’

adopted in 2016:
1. It mandates the RBI to target a 4% CPI inflation with a (+/-) 2% tolerance
band.

2. It was introduced under the Finance Act, 2016.
3.  Failure to meet the target requires the RBI to submit a report to the government.

Which of the above statements i1s/are correct?

(A) 1 and 3 only (B) 1 and 2 only

(C) 2and3 only _ (D) 1,2and3

@lReletl 201641 Hiuedlacil 2Uddl ‘goual deuis 395’ @4 1A Maedid tud 4l

1. ARBIA 4% CPI 22U (+/-) 2% aseslleddl deg 2018 auifit sqdl EL v’
w8,

2. A sSdie 152, 2016 €591 0y RAA M1y ¢,

3. aguis Yol « 5291 #2 RBIA R85k 218414 Yurd s3q) w3 9.

GuRlscl [Mdeedlnigl s4/5u1 /21 897

(A) HiA 1 214 3 (B) ¥iAA 1 214 2

(C) WA 2 i 3 GCD) 1,224 3
S—— —_— /
C88C-GS-1-2025 -A | | [29] [ PTO-




066.

o 065.

(A) WAL 2%43

Which of the following best explains the ‘Crowding-
policy? |
(A) Iﬁcrcascd government borrowing reducing private investment
(B) Higher tax rates leading to reduced consumer spending
(C) Foreign capital inflows increasing domestic inflation
(D) Subsidies distorting agricultural price signals
AlAel US| 534 MRl rouslu Allani “s1GlSa->162 Sise’d Ay dd Auond 87
(A) A5l GURHI quR) viidll Astad g2’ ©
(B) G2RL 52 €31 Alss WUl a2isl 52 9 4
) [A2all 3ddl uda 22fs guAM AURL 52 9
(D) yoRdlll M e dld [Bsd 2 8 £

With reference to the ‘Gini Coefficient’ and income inequality in India, consider the

following statements: |

1. A Gini Coefficient of 0 indicates perfect income inequality.

2. India's Gini Coefficient has increased since economic liberalization in 1991.

3. The Multidimensional Poverty Index (MPI) complements the Gini Coefficient
in assessing inequality.

4. Tax reforms like GST have significantly reduced India’s Gini Coefficient.

Which of the above statements is/are correct?

(A) 1,2 and 3 only

(B) 1,2and4only

©) 2 and 3 only

(D) 2,3 and 4 only
‘oflel 2plis’ 2l FRAUL 215 AU 48 el Mgl [RaR 5A:

0 <l o<l aptis 2ysl 21195 viRFUSAAL €A 6.

199141 20[ls Gerls9L Ul @Reiedl 2l«dl dpiis atul ©.

sttt alofl Yusls (MPI) 2Adidd Heulse sl el Aygtisd Y35 9.
GST oval 52 gHrwill @il 2l Aiised lawa dd aaisdl 8.

Guzlad (maeedlnigll sd/s4 03/ 97

(B) HiA 1,2 MA 4

(C) A2 e 3 (D) A 2, 3 A4 4

Out Effect’ in India's fiscal

CSSC-GS-1-2025 -A _ [30]
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067.  Find Correct statement(s) about the International Big Cat Alliance

1. India's Environment Minister is the Vice president of this Organisatig,

2. India's home to 5 out of 7 bi g cats specices in the world.
(A) only I
(B) only2
(C) both I and 2
(D) neither 1 nor 2
Seeretedt (6101 32 Vet [@9 dloy [adga(il) aldl
Lo MRAAL d{aRL 3ol 211 zeudt Guuyyt 8,
2. [Radl 7 94 Gz woafimidl 5 o €2 GIRAUI ¢,
(A) &1 (B) $5c 2
&C) oiel 1 2ie] 2 | (D) «cdll3ddl?2

y

TR D0 0 0 09 29 2 D9 DAY

068. Regarding the Green Deposit Scheme launched by the RBI in 2023, consider the

following statements:
1. It allows banks to raise fixed-term deposits for green projects.

2. The scheme is mandatory for all scheduled commercial banks.

3. . Funds are allocated to projects aligned with India's net-zero 2070 goal.

Which of the above statements is/are correct?
(A) 1 and 2 only
(B) 1 and 3 only
(C) 2and 3 only

(D) All of the above
RBI g2t 202341 43 s20et Ald [sullse 251 (@4 |3y Mgl e s

1. A olsla ol ulorse W12 [[lRd Yead] el 2159 53954 HoyRl 2 8.

2. il dloret i Risyes slulEua olsl w@ gBryq s,

3. @il MiRddl 42-AR1 2070 q84 qid {3[o1q Uloys2uq stqami 2414 8.

Gulsd [zl 54/5u1 /A 87
(A) HiA 1 e 2

(B) HiA I %43

(C) A 2 »id 3

(D) GuRlsd «dl

SR '
-E 88C-GS-1-2025-A |
A
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070.

069.

r Youth announced

Consider the following statements about the Internship Scheme fo

in the Union Budget 2024-25:

1. It aims to provide internships to 1 crore youth in 500 top companies OvVer five

years.
2. Intemns receive 15,000 monthly allowan
3. Companies will bear 10% of internship costs through CSR funds.

4.  The scheme is implemented by the Ministry of Labour and Employment.
Which of the above statements is/are correct?

(A) 1,2and3 6nly

(B) 1,2 and4 only

(C) 1and 3 only

(D) 2,3 and4only
yYlaud o172 2024-2540 o1dR R4 6«24[5114 Yloy«l [Agl 1Al Ftélzcﬂ-l eyl Ql:

1. Al &q 5 avui 500 Aaell Su-flaiiui 1 535 yauediad Seaedfn y3l wisadl 8.
2. Se2eddd 82 WRA 715,000 128 2 220,000 Visavidsl Aer HA .

3. sudlail Seadfiu waddl 10% G121 CSR @igial gRI Galdal.

4. il Uloredl AH i AR HAGU GR1 2HAH] sl 21d .

GuRlsl [Ade-iuial]l s3/5u1 i/ 97

(A) HAl, 243 |

(B) HiA 1, 2 vid 4

(C) HA 1243

(D) HiA 2, 3 i 4

ce and 220,000 one-time assistance.

With reference to the likely impact/s of the Reserve Bank of India (RBI)'s decision

to hike the repo rate, consider the following statements:

1. It may reduce the multiplier effect of money on the economy.

2. It essentially brings down demand pull inflation as well as cost push inflation

in the economy.
3. It would incentivise banks to sell their government securities to the Reserve

Bank of India (RBI).
How many of the above given statements are correct? |
(A) Only one (B) Only two
(C) Allthree (D) None

CSSC-GS-1-2025 -A ]
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071.

7 4
= il tAf -/\
DD a4t 3 AT

Rosd s »ily S (RBI) - 2 22 quaitt [kl AR 2R3 R 3w

[[dedld e @l

1. d «utidl wtefeuqen yedl 2yLs siaza a2idl 4 ©. ‘
a 464 3A Hid-orfid 244 deid-vEd AR AG UsIRAl FPUAHT 82151 Qi

A

3. A d9A Al 2sidl Bl Rl RBIA 42 W Hlcktléd 21U 9,
GuRlscl [Adeluizl Jeen w97 -

(A) HiA s (B) WAl

(C) AQk D) 518 €l

Economic Survey 2024-25 spoken about the Engel's pause with respect to
(A) Declining global trade becéluse of Trump's Tariff war.

(B) Job loss because of the AL |

(C) Reduced national savings because of the large elderly population.
(D) Impact on illegal immigrant workers on wages in USA

215 ndeagr 2024-25 2 vSleud [ (48 At el aid 53

SAR) gt 2R Yl sl Alhus Quiral w1l

072.

(A) 1and 2 only

&%) HiA 1

(B) AI 4 5Rul «isl«l vile.
(€) HIZl g acdld SRYL AU otAdH 28l
(D) Y2l JRs1ueUR UAR] HogRldl Acded-€2] W VAR

Regarding the Internet of Things (IoT), consider the following statements:
1. IoT involves interconnected devices communicating over the internet.
2. Itis used in smart agriculture to optimize irrigation and monitor soil health.

3.  JoT devices are immune to cybersecurity threats.

Which of the above statements is/are correct?

(B) 2and 3 only

(C) 1 only (D) 1,2and3

Se22dd2 ily Fio (IoT) [ <l [derdid tuiq ql:

| ToT i w222 gt el sett Hsollon 2 odsilen Gusuilel wuida 2w ©.
2. Al Guuilat 238 Wil e 2S5 52e 249 Wil 2ioue] 2ol 1

Yy 9.
3. JoT GUSREL AR YA sAuiHlell ysd 8, X-

Gl [idg-ituidl sd/su0 /A 97

(A) HiA1 2id 2 (B) WA 2 244 3
D) 1,2 ¥d 3

\ o
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073.

ittee to
After the Air India crash in Ahmedabad, the Government has setup a committe

frame air crash response guidelines. Who among the following is the chairman of
the committee?

(A) Director General of Civil Aviation

(B) Chairman of the Airport Authority of India

(C) Air Chief Marshal

(D) Home secretary
wiugled] AR S gl ussl, sl card gz wasia woleRlst agat W2 s

AMAA] 221 53 9. izl 191 240 Al 218 97
(A) «APIRS G3usdl (3522 oyeird

(B) 2Ruld »1alR2] vily el vitua

(C) 2R Als W,

| \a/(b) STRNET

074.

With reference to Biotechnology, consider the following statements:
1. Golden Rice is genetically modified to produce Vitamin A.

2. India has not yet approved the commercial cultivation of Golden Rice as of

2025.

3. Bt crops are resistant to certain pests due to the insertion of a bacterial gene.
Which of the above statements is/are correct?

(A) 1 and 3 only

(B) 2 and 3 only

(C) 1only

(D) 1,2and3

o35l [agl Al [ddedidl [QuR s

1. llesel A [F2MA A Geuert 5390 M2 Bit(lls AA 2sifiq .

2. oRd ¢y 2025 Yl vlleset ASAAL il Vil Hoyl 0] A8l
3. Bt usl cls2Rud orelddl [ 5161 st aidl i ukRlas 8.
GuRls [Adeinidl s4/sut /2 97,

(A) HiA 1443 (B) it 2 ¥4 3

(C) ¥ 1 - (D) 1,2 v 3

CS12025 - A : 34 | ==
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075 f.onsﬁ;; iziio:lo(;ziffg S\talcmcnts about ISRO's Reusable Launch Vehicle (RLV):
- .is canable ::8“1-.(1 to T'cducc the cost of satellite launches.
anding like an aircrafl aficr re-cntering Earth's atmosphere.
3. The RLV uses liquid fuel for all its stages.

Which of the above statements is/are correct?
(A) 1and2 only (B) 2and 3 only
(C) Tonly (D) 1,2and3
ISROL Yet:Guuloll ustugl quet (RLV) [@8 At [Adgedld o al:
I RLV Gue uiueidl Bua azisa wd awa 9.V
2. el AR Yo sul wsl Raeell o7 Gera A 8.7
3. RLV dsll d®¥ dotssivil W2 naid] St Gudlo 52 8.
GURIsct [Adelnial s/ su /2 87
~AA) HIA 1 vid 2 (B) A 2 vid 3
(C) Al (D) 1,2 %43

076. In economics, sterilization is a concept associated with
(A) Action against black money by the Government
(B) Demonetisation of the currenéy.
(C) Regulation of currency exchange rate

(D) Measures to reduce fiscal deficit.
saiinl, 22RATHUA/ DU 2 A1 Asad [Benad 8.

\’3/(4\) S101 <ttt A AR Gl sedael
B) ~lelid, sl
(€) <wel [l & [t
(D) 2usrsidfly vile d2Lsdlel .

—_—

077.  Ineconomics, duringa liquidity trap, the speculative demand of money is
(B) zero |

(A) less than zero
(D) Infinite

(C) greater than zero

wefaiei [Balsdl S (el o) €, «Ataticll asly wio s
\@LE) getel a8 (D) ieid
——— _____________..—-—-—-""-_'_
[35] o
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079.

078.

With reference to India's Green Hydrogen Mission, consider the following

statements:

1. The mission aims to produce 5 million metric tonnes of green hydrogen
~ annually by 2030.

2. Green hydrogen is produced using renewable energy sources.

3. The mission includes the development of hydrogen-powered aircraft.

Which of the above statements is/are correct?

(A) 1and2only (B) 2and 3 only

(C) lonly - (D) ‘1,2 and 3

MRl Al c1dloved B [ A1 Mdedla e El:

1. ol Gl dg 2030 yelui aufls 5 Bl ARs 24 Al etdglort Geule

sl §9.

2. Al e185lorel aAdlellszollu Glod 2ildldl Guilol sdd Geun M 9.

3. il Ml asdlord-2aldd Bl G qHg 9.

GuRls (ddeeinial s/ su iR/ 97

(A) A1 24 2 (B) HiA 2 il 3

(C) H 1 D L,2 el 3

Consider the following statements about Graphene:

1.  Graphene is a single layer of carbon atoms arranged in a hexagonal lattice.

9. It is used in desalination technologies due to its high permeability to water
molecules.

3.  Graphene is a poor conductor of electricity.

Which of the above statements is/are correct?

(A) 1and?2 only (B) 2and3 only

(C) 1only (D) 1,2and3

agld (@2 Al [dedid tnd @l:

1. Al A stold 210p1ldl s 2R 9 o u2slllu ool 2Alsarial 8.

2. el 249241 Ul dsdll G Vel SR dedl Gudlol Ralddad 3seldloon
Yy 9.

3. ugld 2 dlerulld doty] ques .

Gulst [dedlidl su/sut /20 97

(A) HiA 1 24 2 (B) A 2 uid 3

(C) A 1 (D) 1,2 24 3
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080.  Find correct statements
l. Gross Domestic Product (GDP) includes the aggregate income made by all

citizens of the country across the world
2. : . : ;
Gross National Product (GNP) includes incomes by foreigners within the

domestic ¢ : " - :
estic economy and excludes incomes earned by the citizens in a foreign

cconomy,
(A) only | (B) only 2
(C) both I and 2 (D) neither 1 nor 2

QI [qdg-l a4
. A4 839 Gewe (GDP) i 2audl dui RIRSL &Rl [AueRAL AL 244l 54

Al NI A D
2. AR Gewe (GNP) wi adq videuazami (gl
AHAY i D 2 (ARl wiefeuararmi ARIRS gRL ANA] s ollsid A

g2l Aaddl »ias-l

w1q ©.
(A) gn 1 (B) 5 2
() od 1 vid 2 (D) slsugt «dl

How many of the following indicators are published by the National Statistics Office
(NSO)? |

1. CPIfor agriéultural workers

7 Index of industrial production

3. CPI for industrial workers
Wholesale Price Index (WPI)

081.

4.
| (A) onlyone

| (C) only three
izl 3ect yusist 2
1 ol smerl we w28

2. By Geuled SRELE
HEilBLs SHERL w2 Hl

(B) only two
(D) All four of these
Wy wiissia s34 (NSO) &Rl UstfEd UMl 219 7

U{ETLS)

3.

i epelelt oUd S5 (soeqdllzus)

(A) g5l Vs (B) & ol
(D) AKX

(©) g A%

— T |37]
| [P.T.O.
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082. One of the telecom companics in India gave up 49% of its shareholding to the

government of India. Find correct statements regarding this news:

1. Name of the company is Vodafone-Idea.

2. Company had to transfer shares as it failed to pay capital gains tax to the
government.

(A) only 1

(B) only2

(C) both 1 and?2

(D) neither 1 nor 2

MRl s RSN Suedlal Adl 49% REEEL @RA usRA 21 €8l 21 2AHRR

AUl Wy [del alal:

1. Sudlq am digigl-2u8lw 9.

2. Sudla WA Yooud @Rl 2 YA [Frgo edid SREL 1L IR AR 524
Ul el

(A) &d 1 | y

(B) 2 |

(C) 6id 1 24 2

(D) 254yl «tél

083.  Sahyog Portal is related to
(A) Helping the Indian students and workers stranded in foreign nations.
(B) Deletion of unlawful social media posts.
(C) Loan portal for MSME companies that are facing financial stress.
(D) Help victims of digital-arrest.
Heuldl uldd A1d oilid ©.
&(A) G2ell il gudal MiRdld [QenddlAl ud siHeRIA Heg 53,
B) stz Wlfma Hlle wized kelaa,
(€) <susti caguadl Al s2cll 2HBHE Suclall 02w Wiy,
D) [brea-vRz2et lsdld Hee.

- - e e
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084.  With reference to Artificial Intelli gence (Al), consider the following statements:

. Machine learning is a subsct of Al that involves training models on data to

make predictions,
2. India's AI Mission aims to establish a computm;_, capacuty of 10,000 GPUs by
2026.

3. Narrow Al can perform tasks across multiple domains, unlike general Al

Which of the above Statements is/are correct?

(A) land?2 only

(B) 2only

(C) 1only

(D) 1,2and3

ALEERMA Se3Riopeny (AD) (43l «l2l« [&erﬂﬁt i 9l

L el aloy 21 AT A 915 Guasye 8 sl 2106l 5240 W 321 w2 HiReilell crelly
AL 241G 8. |

2. ®Rds AI Raad 2026 yHlai 10,000 GPU -l 53924301 83l 2AUMA s2all &
quq 9,

3. oveRet AT Al [Quild R0 AT oig[q8 Sateimi sl 32’[ W 9,

Gulsd [deciniall 4 /su1 AR/ 97

(A) HiA 1 24 2

(B) HA2

(C) A 1

yé) 1, 2 #id 3

085.  Which of the following treatments are related to cancer? |

1. CAR-T therapy . 2. ARC therapy
(A) onlyl (B) only2
(C) both ] and 2 (D) neither 1 nor 2
faleuidll 58 ARAR 3R WA Aot 97
1. CAR-T @l 2. ARC 9]
(A) &l (B) g5d 2
(O) oid 1 i 2 (D) 1']511.@1 o]
CSSe Al 14%] B | P.T.O.
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087.

086.

: ; i iological Diversity
Consider the following statements regarding the Convention on Biolog

(CBD):

1. Itis alegally binding treaty.

2. The United States of America is a signatory to the CBD. | ‘

3. The CBD has three main goals: conservation, sustainable use and fair sharing
- of genetic resources.

Which of the above statements is/are correct?

(A) 1and3 only (B) 1and?2 only

(C) 2and 3 only (D) All of the above

sedetiel il oildlBrse srualiZl (CBD) [l Al Fdedld et Al:

1. 21 s saeR dd oitiesdl 20l 9.

2. YeUeSds 222 il 2ARsL Alo{ldldl ulsdl ©.

3. CBD <l A9l Hou el 8: 0ra191, 2516 Guallat i 2idlaLs A1l atoroil

aduil.
GUlscl [AAelnizll s4/541 1/A1 7

(A) HiA 1 24 3 ~ (B) U1 wd 2
(C) A2 4 3 ‘QSD) aul

—
The term "Bio-remediation” refers to: ——

(A) Use of pesticides to kill harmful microbes
(B) Use of living organisms to remove pollutants
(C) Use of mechanical techniques for soil treatment

(D) Use of radiation to neutralize toxic waste

“opdl-RARMuA" 2og g eauld 97

(A) €lfFsRS YHBDAUYDLA HRAL U1 ofdelidisledl Gl
(B) UgUslA £ sal WS 2dd @il Guulol

() ordlesll URAR 12 UilAs dAsellsidl Guulal

\0}1’{) A s (A5 s2a1 w12 Usdeeedl Guuiol

: 088. How many of the following matters are covered under the India UK free trade
| _égreement which was finalized in 2025?
1. Visa for workers 2. . Social security contributions
3.  Bilateral investment
(A) Only one (B) Only two
(C) All three (D) None of these
CSSC-GS-1-2025-A] [40] [ Contd...
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089.

20254 »if¢ _
0 R AR L ICTERTE MRA-Yb Yo dUR uuoycl dsa dlAainid]l seetl
AL 2R Qi wyey 57

Lo SHERL 312 [qay

2. vy e Yogig
3. lewsllu Asug

(A) 5&; 25 —_——
\9@ e (D) 818 <€l

Which of the following best describes "Carbon Neutrality"?

(A) Zero use of fossil fuels : Y2 | Tes ’{) :
(B) Not emitting any greenhouse gases

(C) Balancing carbon emissions with removal or offsetting

(D) Absence of carbon in industrial processes

(A U] 5 “stold 21 A Az Ad agld 97

(A) iFeqd/sld Sagidl geu Guuidl

B) 51 Aldei1GA e Geioiet «dl

AC) slofel Geuoiad €2 524l 2iudl HilgAlEa e Adad

(D) NelBls uBui sielddl IRetor<l

090. Find correct pairs of inventions:
1. Majorana-1: a quantum computing chip invented by Amazon.
9 Ozempic: a weight loss drug which was originally developed for treatment of
depression.
(A) onlyl (B) only2
(C) both 1 and 2 (D) qeither 1 nor 2
sileiledl Hilou oAdlzil aldl:
L doaie-1: sl &Rl vIfEegd saleed syf3o Ry, R
2. wilbfus: dor< a2settell € o7 Y 3 [sHa (20 «l aRaR 13 Rsauqam
il edl.
(A) &l (B) &n 2
(©) oid 122 o) 132 3iell 1 ]
Essc-(;s-l-ﬁ [4L) i

S ]

|
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091.

092.

Evaluate the following statements about the 28th United Nations Climate Change

Conference (COP28):

I.  COP28 was held in Sharm el-Sheikh, Egypt.

Il The conference resulted in a historic agreement to transition away from fossil
fuels in energy systems to achieve net-zero emissions by 2030.

Which of the statements above are correct?

(A) T only (B) II only

(C) Iand Il only (D) None of the above

281{1 3-11626 Al sASH2 Aeor Slesrey (COP28) (A 1Al [;télid]-j, yeuis 52U

I COP28 o wat-dv, §Braaii dlons el

IL w1 uRMR 2030 yellui A2-ofl Geuodet ¢iiet s2 W2 AR Bagwieldl Glod
Rizeuniel]l oieiR «dlsadidl AlsiBis uusydl uﬁ@m’l

Gudlsct [de-inie] 53/3241 AR} /AL 87

(A) HIAT T (B) WAI

(C) AT w4 I | (D) GuRlsanidl si¢S «el

Find correct statements about Gangetic dolphins

- 1. They're blind and rely on echolocation for traveling.

2. They're found in Uttar Pradesh, Bihar, West Bengal and Assam
3.  Assam has the highest population of Gangetic dolphins

(A) Only 1 and 2

(B) Only 1 and 3

(©) Only 2and 3

(D) All three
a1l s’ll’%«i (a9l uloy [qdedl sl

1. il 248 9 2id U 12 Ssldbad W 4R Al 8.
2. doil Geik Ued, [G1eR, Ry 620 wid 2UHHL sAAL HA
3. RUHHL DU SUehadl Aell ay axdl 8

SA) #1942 (B) i1 %id 3

(C) &5l 2 e 3 | (D) Adiu
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093.

094.

- How man '
y of the following statements are correct?

1. PM Kisan Samman Nidhi is exclusively for landholding farmers owning less
than 5 hectares,

2. Pradhan Mantri Fasal Bima Yojana provides coverage for prevented sowing
and post-harvest losses, |

3. Agriculture Infrastructure Fund offers 3% intercst subvention on loans for
building Agriculture infrastructure.

4. All the above three schemes are centrally sponsored and require 50% state
funding.

(A) Only one (B) Only two

(C) Only three - (D) All four

{3t MAs-dnisdl Joan 2z 97

PM [5u1e 2331 R g5 5 dserell il ovaild BRIl vigdl 12 9.

1

2. ute ¥l gt oflau dlorett Astat viestad vid agisll uslet g5 12 5920¢
Y UR 6.

3. Dallseur Sexizsuz 5 3L ofrg] BaziRAdl ol HIE Al W oy Hi 3%
Al Aetdesld 20U 9.

4 Gualsd AG dlor<liil 3o Ueillrd © i 50% RAsed cigladl or3R €.

(A) HiA 15 (B) i ol |

(D) ol AR

(C) HA A8

e Economic Survey 2024-25, consider the followi:hg statements:

With reference to th .

1. Itencourages the rapid shutdown of coal-fired plants to reach nc.t/ :z?ro emissions
by the year 2070. .- _

2. Micro, Small and Medium Enterprises (MSMEs) are the tqp Edrivers of job
creation in India. ;

3. There has been an increasc ifl the Fc.m'ale.Labor Force Pz\lrt'ici'pation Rate
(FLFPR) due 1 the increasing participation of women in rural India's
workforce.

{ the abov€ given statements are correct?
How many O " ———
(A) Only12n (D) None of the above

(C) All thre€

[43] o
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21085 1 2024-25 (@9 A Ml QAR 52
\,,/f 42070 Yeflui A2 AR Gt ciret AL e slau-dalad

ot U Ul 21U 6.
&? 2. WG, «lirll 2iel HE4H GEl (MSMEs) @RAA] AorAAR Aorietl el sl 8.
3. anflol eRae spfoui wfamidl qadl el srel 20l 23 oo Apiler]

€2 (FLFPR) ¥i qUIR] &l .
GWlsa [de-dluiell Jean w97
(A) HiA 1 244 2 (B) Hizt 2 i 3
\ygc) A9 (D) Guilsanizll 518 €l

o Ul

095.  Operation Abhyaas, conducted on 7 May 2025, was India's first nationwide civil
defence drill since 1971. It involved all of the following:
1.  Blackout simulations in major cities
2.  Evacuations from bomb shelters
3. Air-raid siren testing
4.  Launch of missiles by the military
(A) Only one | (B) Only two
(C) Only three (D) All four
7 A 20251 Aor €18 BRAMI 24199 RAA HeURA, 1971 ussl GiRA uaH el
ARIRSs A& satdd edl. dul flddidl AHd QL 9:
oA MRl 92w A5G Reydad 2. ollx feyidl iR«
3. 2R-WS AR uLlaw A ABR Rl Fusdl« uaugl
(A) i Vs | (B) wAd

\a/((:) Uiz AR (D) ARY

096. The term “Samson Option” has appeared recently in current affairs. It refers to:
(A) Iran's A targeted missile defense system.
(B) India's A cybersecurity strategy.
(C) A humanitarian evacuation plan after Operation Sindoor.

(D) Israel's deterrence strategy of massive retaliation with nuclear weapons.

CSSC-GS-1-2025-A] | [44] [ Contd




097.

098.

A

qA) M le
(B) At ¥

w:ﬁl

C88C.Gs-1-2025-A |

AR 2™ g0g quopu] it oot 2viel 8. A 4 £l 37

(A) Bl @lia Rrygy A& Frreu

(B) ®Resll uior 3m eyezaal

(€) 2R R uislefl nietcictiang] 2utict Hlovetl

(D) Sdad] WHWY w2l 208 e ufalasdl [[R14s qea-dl

Find the correct statements about the Studio Ghibli artform?

1. It was developed by Hayao Miyazaki.

2. Ghibli is a Japanese word for “hot desert wind”

3. Pacifism against war is a recurring theme in the Studio Ghibli movies.

(A) Only 1 and 2 (B) Only 1 and 3
(C) Only2and3 (D) All three
2254l Prodl sausr @4 dlou [Haga el ?

1. dedl el szl o] gri srami sudl edl.

- o % oA
2. Bredl 3 sl 208 © oeil vl “oru gl uaa” AR

3. Y [ wiftae 2 2l Bodlat Aafielui yaaldd A sqal Hadl >is

olH 9.

(A) &5c 1 24 2 B it 1 o 3
(C)' g5d 2 vid 3 (D) ¥

Why was the Birch Glacier in Switzerland in the news in June 2025?:

(A) It became thicker due to heavy snowfall.

(B) It collapsed, damaging a village and blocking a river. -

(C) It was the only glacier in Europe that is moving forward.

ed a UNESCO World Heritage site.

(D) It was declar . ‘
2 oAU AR 3H ¢d?

ogL 20254 Razord=sd oA X
eula 518l d o o,
ool st 2 et el RIS,

e ed o 2 a4l 2w 8.

i alsHIA
(C) A uRlud 22l 201 MR SRAME B,

0), a4 yedt B

—_—
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099. How many of the following are referred to as paper taxes in India

1. Wealth tax 2. Gift tax

3. Estate duty 4. Corporation tax
(A) Only one of these (B) Only two of these
(C) Only three of these (D) All four of these
Amigl] Joeu Miani Wwr-252/s101-52 @l AR 8
I duf R 2. MR

N CEERRSE | 4. [om s

(A) 20l g5 25 (B) wHidl g5 ol

(C) MYl g5c AQL (D) il G4l AR

100. Find correct statement(s) about the G7 Summit in 2025.
1. It was hosted in Ontario in Canada.
2. India was added as a member in the group.
3. India and Canada agreed to appoint new High Commissioners, restoring full
d-ip'lomatic ties.
(A) 3 only (B) 1and2only
(C) 2and3 only (D) 1,2and3
2025 Hi G7 ulMe [ad WA [t i,
. dd vilord Sesidl viie21Rului vy ed.
22 GlReled ol AU dly G 21 ed. |
3. R 2 341 Yol Asrgil %loi‘éll Yel:2UUMUA 530 Adl €185 SRl ()8
54l UHA UYL edl.

| T (C) A2 w3 (D) 1,2 %43
|
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